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1 Introduction

Relay co-existence had been discussed for several meeting. In last RAN4 ad hoc, some details on relay scenarios and simulation assumptions had been agreed [1].

This contribution provides preliminary simulation results for access downlink in outdoor case A1 and case C1defined in [1]. 
2 Simulation Assumptions
2.1 System layout

In outdoor scenarios, the RNs located at cell edge, i.e. 1.5 R (cell radius) from macro eNodeB, The RN are evenly spread over a total angle of +/- 30 degrees. There are 5 RNs in each macro sector.
The macro cellular deployment is uncoordinated.
2.2 UE location
UEs are located uniformly over the service area with 30 UEs per BS sector, i.e. per unit area of ISD^2 * sqrt(3)/6 .

UEs are located indoors with a probability of 80%.

2.3 Simulation cases

This contribution provides preliminary results in the following cases.
	Case
	Aggressors
	Victim Link
	Relay Deployment
	RN antenna configuration
	Propagaion Model
	RN Max Power
	Power control

	A1
	eNB and RN access side
	eNB -> UE
	6.2.1

Case 1
DR=1.5R


	6.4b
Outdoor relay
GBH = 15 dBi
	Case 1

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm
	N/A



	C1
	eNB and RN access side
	eNB -> UE
	6.2.1

Case 3
DR=1.5R


	6.4b
Outdoor relay
GBH = 15 dBi
	Case 3

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm
	N/A




2.4 Resource allocation

In simulation, BS and RN use the same whole system bandwidth with full power.
2.5 Cell selection
In fact, for access link co-existence performance, cell selection scheme has no influence on final results. 
3 Preliminary Simulation Results
The simulation results of case A1 and case C1 are shown in Figure 1 and Figure 2, where both cell average and 5% cell edge throughput loss ratios are given.
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Figure 1 ACIR vs. throughput loss ratio for Case A1
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Figure 2 ACIR vs. throughput loss ratio for Case C1

4 Conclusion
In this contribution, preliminary simulation results on access downlink for case A1and case C1 are provided. In case A1, when ACIR equals to 30dB, the 5% edge user throughput loss is near to 5% and average throughput loss is less than 5%. In case C1, even when ACIR is up to 45dB, the 5% edge user throughput loss is still large than 5%.
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